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QUESTION 1

An administrator wants to configure a stretched cluster and needs to configure vMotion, Which type of network
connection is supported for vMotion?

A. The vSphere vMotion network must be routed between sites.

B. The vSphere vMotion network must be stretched via VMware MCX
C. The vSpherevMotionnetwork must be routed via VPN.

D. The vSphere vMotion network must be routed via VMware HCX.

Correct Answer: D

QUESTION 2

An administrator did not deploy and configure Application Virtual Networks (AVN) during the initial VMware Cloud
Foundation bring-up process. Which statement is correct?

A. AVN disablement is not possible during the VMware Cloud Foundation bring up process
B. Cloud Foundation bring-up will fail since AVN is required to property configure Management Domain.

C. AVN deployment is disabled by default and must be enabled right after the VMware Cloud Foundation bring up
process

D. vReafize Suite components must be deployed to VLAN-backed distributed port group.

Correct Answer: D

QUESTION 3

An SDDC administrator wants to enable vSphere with Kubremetes on the Management Domain. Within the SDDC
Manager, the cluster is not visible on the lists of compatible and incompatible clusters in Workload Management
Deployment window

What is the reason the cluster is not visible?

A. The SDDC Manager excludes the Management Domain from the list of available clusters in UL.

B. vSphere with Kubemetes is not supported on Management Domain in Consolidated Architecture.

C. The Management Domain should be stretched across two sites first.

D. All hosts within the vSphere chaster in Management Domain must have the proper vSphere for Kubemetes
licensing.

Correct Answer: D
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QUESTION 4

An administrator is creating network pools.

What must be considered for sizing the network pools?
A. Number of users

B. Number of workload domains

C. Number of pods

D. Number of virtual machines

Correct Answer: B

QUESTION 5

Which step should be followed to restore SDDC Manager using the OVF tool?

A. Retrieve the DNS name or IP address of a host m the management Domain

B. Use the host s DNS name in the host password_vault-json, and this will display the root password
C. Install the OVF Tool on a system in the VI Workload domain.

D. Move the SDDC Manager VM into the VI Workload Resource Pool.

Correct Answer: A
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